Table S2. Experimental and calculated frequencies (Cm'l) and intensities (km mol'l) for T1, T2a and T2b in xenon and argon matrices”

Calculated Xe (15K) Xe (30K) Ar (13K) Species Approximate Description
\Y I \Y I Y I v I
3451 128 3461, 3450 w 3461, 3450 w 3483 m T2a vNH
3451 121 3451, 3449 w n.o. 3483 m T2b vNH
3446 124 3444, 3440 m 3444, 3440 m 3474 w T1 vNH
3111 7 3171 VW 3171 VW n.o. T2a vCH(R")
3110 10 n.o. 3166, 3164, 3162 | vw 3162 VW T1 vCH(R’)
3109 6 3162 VW n.o. n.o. T2b vCH(R”)
3086 1 n.o. n.o. n.o. T1 vCH(R)
3080 1 n.o. n.o. n.o. T2b vCH(R)
3080 1 n.o. n.o. n.o. T2a vCH(R)
1612, 1608 w 1612, 1608 w 1613 m T1
1590 216 1596, 1593 Vs 1596, 1593 Vs 1598 Vs T1 vNI1’-C5 + vN=C(R) + NCN(R) + dN1’C5N4
1591 VW T2a
1571 229 1584, 1582, m 1584, 1582, S 1585 S T2a vN=C(R) + vN1’-C5 + SNCN(R) + 6CNN(R) + dCNC(R)
1578, 1575 1578, 1575
1579, 1578 VW T2a
1545 275 1555, 1552 w n.o. 1558, 1556 w T2b vN1’-C5 + vN=C(R) + ANNC(R) + NCN(R) + 6CNC(R)
1525 45 1530, 1529, 1526 | w | 1530, 1529, 1526 | vw | 1536, 1531, 1530 | vw T1 vN-C(R) + vN=C(R) + NCN(R) + dN1’C5N4
1521 18 1521 VW - 1523 VW T2b vN=C(R) ) + 6NH + vN-C(R) + vN1’-C5 + 6NCN(R)
+ ON1’C5N1
1510 37 1504, 1503 VW 1504, 1503 VW 1506 VW T2a vN=C(R) + vN1’-C5 + SNH
1494 VW 1493 VW 1493 VW T2a
1470 2 n.o. n.o. n.o. T2b vN=C(R’) + 3CH(R’) + NCN(R")
1467 22 | 1458, 1457, 1455 | vw | 1458, 1457, 1455 | vw 1458 VW T1 vN=C(R’) + 0CH(R’) + SNCN(R”)
1465 22 1454 VW 1454 VW 1455 VW T2a vN=C(R’) + 0CH(R’) + SNCN(R”)
1451 24 1443 w 1444, 1443 vw | 1449, 1447, 1446 | vw T2a vN-C(R) + 6NH + 8CH(R) + SNCN(R)
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yCH(R)

yCH(R’) + TNNNN(R’) + tNCNN(R’) + tNNNC(R")
yCH(R’) + TNNNN(R’) + tNCNN(R’) + tNNNC(R")
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* Abbreviations: v — bond stretching, 8 — bending, deformation in plane, y — out-of-plane bending, T — torsion.



